
Worksheet 8 Answer Key

1 . Y
= 5x - x2 set y =X Intersect ?
= x(5 -X) = 0

5x-X = X
Zeroes : X= 0, X= 5 7

-

y
= 5x-x2 X

2
- 5x + x = 0

X
2
- 4X = 0

nx i
S

x(X - 4) = 0

x = 0 x= 4

O

Area = S"Top-Bottomdx = ("(5x -x4 - xdx = ("4X -x dx
2

/= # - 131" = 2(4)2- 13 - 10 - 0

= 32- 4 = 1 - 4= t

2
. = 2 - Y Y = X- 6

Intersect ?

2 -x2= x2- 6

8 = 2x2

2- x2 4 = x2

- 2 z

↳ X = = 2 Symmetry here

-TG iMe "To
- ↳

y = x2- l

Area= (Top-Bottomdx= (2 2- x2- (x2 6)dx = 1
2

- x2- x x

= (8-2x2 dx = 0x- zx
= 1 - 2 . 8 - ( 16 - 2)- 8)

= (6 - 1716 -H = 32- 3 = 9 - 3= +



3. y = e
Domain : IR Or

,
(-0

, 8)

Range : (0
,
00

I

X
4. lim = 0 lim ex = o

X-> A X+- 0

Blows Up ! Shrinks to 0

5. f(x) = ex f'(X) = eX

6. f(x) = 1
Prep

f(x) = Gx . (1) = - e-x = -1
ex
= e

Y

ex

7 . f(x) = e3X f'(X) =
3X

. 3 = 323X

0. f(x) = Are -x f(x) =2 x() = -Te
x
=

x

9. f(x)= esinx f'(x) = esinx . cosx

10. f(x) = sin(eX) f'(x) = cosleX) · ex

". f(x) = e f(x) = eT .

1
2x

12. f(x) = Nex = Ef'I =.
x

OR prep f(x)= = (e Y )" = e* = f'(= e*2 . E = tex match !

13. f(x) = de
*

f'(x)= ele
*). eX

14. f(x) = e constant f'(X) = 0

15. f(x =E = x f( = e)- x -4 =-

16. f(x = G = A . x f'() = t



K . f(x) = e5 constant f'(X) = 0

18. f(x) = ex f'(x) = e

19. fix = -x f'I =- x%=

20. f(x) = x f(x) = exe power rule ,
e-constant

- e- I # exponential rule
21. f(x) = 1 = x

- 2 f(x) = -ex
Xe

L
- 2x - X -X

22. f(x) =
e
- 2x

fix)
X (2) - ef

.

ex
=

- ze - ze - 2
-

I + ex (I + ex)2 (I+ ex) 2

=
- Ze - 3e X

(1 + ex) 2

23. f(x) = (e2X- +
-3x) f(x) = 7(22x-

-3x): (e2X . 2 -
- 3X

. ( 3)
= (ex - e- x)"(2e2 + 3e- 3X)

24. eXY = 2 tsiux Emplicit Differentiation

# (ex) = +x(2 + sinx)

ex . (x. + y(l) = cox

xexy 14 + yeXY = co
-

xex1y = cosx - ye

Solve : dy =
cosx-yex
XeXY

-u3z
I xm dx = -(Fudu = -Jud = - - + = -= (tex) + C25. e l-eX

3)

u= 1- eX

du= -eXdx

- du= eXdx


